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~ 1 x3-27 v 1 x%+3x+2 [14)
Q1 Evaluate: (i) limy.3—— (i) limyo—1—
. Jx+2-v5 . . x16-ql®
(iii) limye3— (iv) limyq——
OR
. 1
Q1 () jff(x) = —j;then evaluate lim,_3 [f (;) + f(——x)] (7]
(b) Write down all standard formulas of limit. (7]
Q.2 Find E;X: i)y = ii_z (i) y = 3x* +5x> — 2x2 +7x +9 [14]
* _

(iii) y = x%e* (iv) y=1og(5 2 +3)
S

OR ()
Q.2 2 42 = ind & : (7]
(@) If x2 +y? = xy thenfind -=. \(\QJ
(b) If y =1log (logx) then find %Q (7]

Q.3 (a) The total revenue funct{i_&f afirmis R = 21x — x? and its total [7]
cost functionis C =gQ —3x2 — 7x + 16, where x denotes the
output. Calculat output at which total revenue is maximum.

(b) The supply Yion of a commodity is x = 6 + 2p?. Calculate the [7]
elasticity of supply at p = 3.

OR
Q.3 (a) Find minimum value of a function f(x) = x*+x+1. [7]

(b) 1f x = % is the demand function, find the price elasticity of [7]
demandn atp = 3.

Q.4 Solve the following equations by Cramer’s rule: (14]
(i) 2x+5y=3, 3x -2y =14
(i) 3x +4y=6xy, 2x+5y=>5xy
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OR

Q.4 208 325 194 a b c [14]
Evaluate: (i) |152 202 105 (@) b ¢ a
56 123 89 c a b
Q.5 Solve the following equations using matrix inversion method: [14]
(i) 3x+y=5 2x + 5y =-1
(i) 2x+y=1, 3x — 5y =21
OR
Q5 (a) 2 2 011 7]
Evaluate: [2 1 110 2 3} 13}
3 1 0J1L5
(b) [1 1 1] . (7]
fA=|1 2 3|thenfindA™".
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32 ol Pantoll Heesll Aol UMSAWA G3ct WHll:

() 2x+5y=3 3x—-2y=14
(i) 3x +4y =6xy, 2x+5y=>5xy

wAAL

208 325 194
152 202 105
56 123 89

Eud QU @) (ii)
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() 3x+y=5 2x+5y=-1
(i) 2x+y=1 3x—-5y=21
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